
LITTIE BEAR RIVER DISTRIBUTION

L962 WATER, ASSESSI-ENT
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feet for all users
feet for miniurmn $ Z.OO users
feet for Regul&r Users
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ho.oo
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The 1962 Assessnent i-s based upon.a !-year average delivery ofacre-feet of water for..the years of L9g7- Lr6r, incluJlve, ntth"a
nlnfunum assessment of $ 2.00 for any one water user ftho may be as-sessed, in accordance with the corrunissicnerrs Annual nepori of Waterdel-ivered and as llsted in the office of the state Engineer.

BASTS OF ASSESSMENT:

ACRF,.'T'EET OF WATER DELTVERED:

Less
then

Total De1ivery, .Ifr^L 31153g.66Totar Delivery (19't-:rg6t) zolrittLL.tfTotal Average Delivery $T_6t) Lo;gSd:Bt

CATCI]I.ATION OF THE 1962 ASSESSMENT:

The first problem is to determine the rninimum $ 2.oo users andthe marir.un amount_or 1ess, acre-foot delivery ior such.users. rt isdetermined that LOL.25 acre-foot or 1ess issu&an anount and there are20 such users totaling Ir289.Og acre_feet ntrich is subtracted fr.om thetotal Lg62 S_year sverage and assessment.

$ 800.00 eqr:als [OrB8B.Bp acre
(b0.oo)equals 112B9.Og aere
750.@ equals 39|5gg.Bt aerc

$ 750-oo dlvided by 3gr5gg.B1 aere-feet e quals g o.o1grg2o113 cost forone flve-year averag-e acre-foot of water times th" *o,.,rrt rlsted foreach such Begular User..

PROOF:

391599.8r t/rt tines g 0.0191920113 equals
1.289.08 A/ft or 20 times $ 2.OO equals

Total: l+0rB8B.B9 A,/Ft equalsl!62 Assessment. . . . .$

Prepared by:

Boo.oo


